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EXCEL

Q1. In the image, what do the tabs 1 and 2 represent?

o Logical and text functions respectively -
o Help function and spell check respectively

o Logical function and thesaurus respectively

o Help and text functions respectively

o Help function and thesaurus respectively 1

Q2. What would be the outcome when the formula =MAX (A1:A4, 100) is executed on the data as given

in the image?
o 30
o 10 1
o test =
o 100 a
5

Q3. Which of the following is not an alignment tool?

Indent

Wrap Text
Consolidate
Merge and Center

O O O O

Q4. What is the meaning of FALSE in the formula: VLOOKUP (E93, E87:F93, 2, FALSE)?

Approximate Match
Exact Match
Non-Cumulative Value
Cumulative value

O O O O

10

20

30
test

Q5. Cell C9 contains the value "4" and C10 contains the value "8". You select both cells and drag the fill

handle down to C13. The contents of cells C11, C12, and C13 will be

48,4
9,10,11
12,16,20
8,8,8

O O O O
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